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Index: 0, Unicode:

Nodes: 603, Contours: 6
BBox: (0, 0) - (2794, 503)
LSB: 0, RSB: 6, Width: 2800
Ish: 32, rsh: 32, width: 2736
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Index: 2, Unicode: 0063
Nodes: 241, Contours: 2
BBox: (0, 0) - (2805, 400)
LSB: 0, RSB: -5, Width: 2800
Isb: 606, rsb: 595, width: 1599
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Index: 4, Unicode: 0065
Nodes: 247, Contours: 5
BBox: (0, 0) - (2798, 400)
LSB: 0, RSB: 2, Width: 2800
Ish: 549, rsbh: 560, width: 1691
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Index: 6, Unicode: 0067
Nodes: 362, Contours: 12
BBox: (0, -8) - (2801, 499)
LSB: 0, RSB: -1, Width: 2800
Ish: 475, rsb: 153, width: 2172
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Index: 8, Unicode: 0069
Nodes: 444, Contours: 5
BBox: (0, 0) - (2798, 295)
LSB: 0, RSB: 2, Width: 2800
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Index: 10, Unicode: 006B
Nodes: 373, Contours: 2
BBox: (0, 0) - (2805, 404)
LSB: 0, RSB: -5, Width: 2800
Ish: 238, rsh: 230, width: 2332
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Index: 12, Unicode: 006D
Nodes: 533, Contours: 18
BBox: (0, 0) - (2805, 407)
LSB: 0, RSB: -5, Width: 2800
Ish: 253, rsb: 249, width: 2298
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Index: 14, Unicode: 006F
Nodes: 160, Contours: 6
BBox: (0, 0) - (2794, 397)
LSB: 0, RSB: 6, Width: 2800
Ish: 704, rsb: 763, width: 1333
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Index: 16, Unicode: 0071
Nodes: 518, Contours: 10
BBox: (0, 0) - (2794, 492)
LSB: 0, RSB: 6, Width: 2800
Ish: 457, rsb: 494, width: 1849
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Index: 18, Unicode: 0073
Nodes: 519, Contours: 4
BBox: (0, 0) - (2805, 407)
LSB: 0, RSB: -5, Width: 2800
Ish: 269, rsbh: 236, width: 2295
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Index: 20, Unicode: 0075
Nodes: 368, Contours: 12
BBox: (0, 0) - (2808, 393)
LSB: 0, RSB: -8, Width: 2800
Ish: 595, rsbh: 588, width: 1617
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Index: 22, Unicode: 0077
Nodes: 363, Contours: 9

BBox: (0, 0) - (2798, 309)

LSB: 0, RSB: 2, Width: 2800
Ish: 1298, rsh: 1287, width: 215
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Index: 24, Unicode: 0079
Nodes: 313, Contours: 12
BBox: (0, 0) - (2780, 400)
LSB: 0, RSB: 20, Width: 2800
Ish: 389, rsh: 400, width: 2011
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Index: 1, Unicode: 0062
Nodes: 449, Contours: 15
BBox: (0, 0) - (2798, 407)
LSB: 0, RSB: 2, Width: 2800
Ish: 252, rsh: 254, width: 2294
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Index: 3, Unicode: 0064
Nodes: 378, Contours: 9
BBox: (0, 0) - (2801, 499)
LSB: 0, RSB: -1, Width: 2800
Ish: 102, rsh: 120, width: 2578
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Index: 5, Unicode: 0066
Nodes: 318, Contours: 18
BBox: (0, 0) - (2801, 400)
LSB: 0, RSB: -1, Width: 2800
Ish: 675, rsh: 671, width: 1454
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Index: 7, Unicode: 0068
Nodes: 406, Contours: 4
BBox: (0, 0) - (2798, 400)
LSB: 0, RSB: 2, Width: 2800
Ish: 476, rsh: 466, width: 1858
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Index: 9, Unicode: 006A
Nodes: 355, Contours: 9
BBox: (0, -4) - (2794, 400)
LSB: 0, RSB: 6, Width: 2800
Ish: 145, rsbh: 143, width: 2512
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Index: 11, Unicode: 006C
Nodes: 530, Contours: 22
BBox: (13, 0) - (2797, 499)
LSB: 13, RSB: 8, Width: 2805
Ish: 149, rsbh: 144, width: 2512
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Index: 13, Unicode: 006E
Nodes: 368, Contours: 2
BBox: (0, 0) - (2801, 503)
LSB: 0, RSB: -1, Width: 2800
Isb: 159, rsh: 133, width: 2508
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Index: 15, Unicode: 0070
Nodes: 211, Contours: 10
BBox: (0, 0) - (2798, 404)

LSB: 0, RSB: 2, Width: 2800
Ish: 1296, rsh: 1297, width: 207
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Index: 17, Unicode: 0072
Nodes: 465, Contours: 8
BBox: (0, 0) - (2801, 404)
LSB: 0, RSB: -1, Width: 2800
Ish: 467, rsh: 479, width: 1854
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Index: 19, Unicode: 0074
Nodes: 348, Contours: 4
BBox: (0, 0) - (2798, 400)
LSB: 0, RSB: 2, Width: 2800
Isb: 315, rsh: 315, width: 2170
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Index: 21, Unicode: 0076
Nodes: 298, Contours: 4
BBox: (0, 0) - (2801, 404)
LSB: 0, RSB: -1, Width: 2800
Ish: 494, rsbh: 487, width: 1819
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Index: 23, Unicode: 0078
Nodes: 494, Contours: 16
BBox: (0, 0) - (2769, 309)

LSB: 0, RSB: 31, Width: 2800
Ish: 1204, rsh: 1243, width: 353
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Index: 25, Unicode: 007A
Nodes: 447, Contours: 7
BBox: (0, 0) - (2790, 386)
LSB: 0, RSB: 10, Width: 2800
Ish: 781, rsh: 791, width: 1228



